
Class 3 

Subject-Mathematics 

Chapter-2 Addition problems 

Answer Key 

Worksheet Answers 

A. The vegetable seller earned 763 rupees. 

B.  There are 2388 students in the school. 

 

1) The factory  produced 1584 bulbs altogether. 

2) There were 8201 people in the movie hall. 

3) 4278 people visited the zoo on both days. 

4) Lucy bought 275 packets from the grocery store . 

5) 929 pupils are there in that school. 

 

Text book Exercise B pages 34 and 35  

1) Reena saw 56 butterflies. 

2) There are 233 people in both compartments. 

3) There are 947 packets of        milk in the dairy. 

4) There  were 1437 students present in the school. 

5) There were 2287 pencils in all. 

6) The library bought 7997 books.. 

7) There are 1159 flowers in the garden. 

8) 4571 people visited the museum on Saturday. 


